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ECONOMICS

( Honours Core )

Paper : ECO-HC-5016
( Indian Economy—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
et Tl e Tas fa

(a) Define infant mortality rate (IMR).
Pres yorRew e i |

(b} What is the sex ratio in India according
to 2011 Census?

3055 B CEIPEHE SRpIR SRey o SRee
o
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(d)

fe)

{g)

(h)
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(2)

In which year was the National Rural
Health Mission {(NRHM) launched in
India?

TETS (@ bIe FBT AW T AW S
91 2f"E 7

What is the full meaning of MGNREGA?
MGNREGAT 5o o1%f 7 7

What is dependency ratio?

fasaMieter Seers & 2

When was the Integrated Rural
Development Programme (IRDP)
implemented in India?

TATT HIES AR THTA S (PG ST FqA
o 2

Which State of India is having the
lowest density of population as per 2011
Census?

3055 5 (AREPIE q0S TS (T S
G Y HIROCF FW 2

Which type of unemployment has zero
marginal productivity?

@ AT PRRE AT SeomrTeTe i 2

( Continued )

()

0)

eSS

{38)

Rashtriya
(RUSA)

In which year was the
Uchchatar Shiksha Abhiyan
launched?

@ e IEE Swed FE SieEe WIS ¥4
tzfeE 2

Who developed the Human

Development Index (HDI)?
R BAE S (I TR TR 2

2. Answer the following very shortly : 2x5=10
framcarm =IfS vace e fian
What do you mean by Lorenz curve?

(@)

(b)

(c)

(d)
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w[Cag (41 e & e 2

Mention two objectives of the Integrated
Rural Development Programme (IRDP).

Siees o S S 151 Sl ey 34 |

What is Human Development Index
(HDI)?

e T eTE e 2
Mention two causes of rural
unemployment in India.
SIS 1 FREER 11 FEe ToEy 9 |
{ Turm Over }
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(e} Mention two features of Indian economy
at the time of Indepenence.

TR TS SHer wAIfed ¥o1 Cafies Ty
F4I o

Answer the following shortly (any four) :

5x4=20

54F Teg fran (R e wifsi)

(a) Write briefly about the National
Education Policy (NEP), 2020.

B FrefS, 030 F=TEF S 7 |

(b) “Development is taking place regarding
the health services in India after
Independence.” Give reasons.

“aBieTey PRe SRee §% RN SNl
tar 7 R 0 90

fc) Briefly mention the factors responsible
for poor rate of investment in India.

oee Rfem F 799 IRPEE Ao
forat |

(d) What is the present status of health

care sector in India? Discuss.

SHTS IS FEIGT SHE] (AT, S
39 |

( Continued )

4.
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(e} What measures have been taken by the
Government to reduce income
inequality in India? Explain.

W TSl YW A o9 beerd [
TE] 2O (SR ? HICEIOA T |

{f/  What are the major features of regional
imbalance in India?

SAOS TP (TN 4T FRER F 5 2

Answer any four of the following questions :

10%4=40

wore i e e wiReR e fra

{a) Discuss the growth and development of
Indian economy during the post-
Independence period.

FRCTET FRTS SFoR Teafes I ST Tmm
TR I AT

(b) Make a comparative analysis between
India and neighbouring developing
economies during the recent decades.

{ Turn Quver )




(7)
(6)

(g) What do you mean by population

(¢ What do you mean by poverty? Analyse explosion? Analyse the causes for tl-le
the various poverty alleviation high rate of growth of population in
programmes introduced in India after India.

Independence. S-REPE A 7 TROS FS PR

wRael W & q@ 0 FRTe FES wiwe!

4faq F19 Reeme 990 |
AP NI SRS 2E F91 R[Sy Swfrmg Lk

G F41 | (h) Explain how the demography of Indian

population has changed after

(d) Discuss the different measures to solve Independence with its impact on
the problem of unemployment in India. economy of India.

TECS FIEEE O AR AT AT HAIe IS ey SERRE Qe e

fRfS TEPRR AT 9 | ffFafbs tora e OEed ST WR AOR

e} Explain the importance of domestic CICATC 1R, SICTos 41 |

savings as a prime source of capital

formation in India. Analyse the trend of * k%
domestic savings in India.

STES Yo 5T J4 T B w1 AR

QFG AR TN | SEASS G I G FF

TRCeEe 4 |

{fi, Discuss the different causes of
inequality in Indian economy. Mention
the different remedial measures
undertaken by the government to
reduce inequality.
oRee weafes (A [fen FRepTR W
9 | GG (99 ©eY F99 IE IR
M2 T f[fen dfSoRyEe I/gEal T
TEY 49 |
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